
USER MANUAL

TOOLKIT

Pull-up and Dip-Rack
VF02110

Allen Bolt M10*55
Allen Bolt M8*50
Hex Head Bolt M8*16
Allen Bolt M8*16
Allen Bolt M6*15
Anchor Bolt M8*80
Nut M10
Washer M10
Washer M8
Washer M6
Hex Wrench 5#
Hex Wrench 6#
Spanner 

A (10x)

B (4x)

C (8x)

D (4x)

E (2x)

F (8x)

(10x)

(10x)

(10x)

(2x)

(1x)

(1x)

(1x)

8 (2x)

1 (2x)

2 (2x)

5 (1x)

7 (1x)

6 (1x)

10 (1x)
11 (4x)

9 (2x)

3 (2x) 4 (2x)

@virtufit_fitness
VirtuFit
www.virtufit.com



USER MANUALUSER MANUAL

COMPLETE

1

2

3

4

5

7

8

10

9

A

A

A

A
A

B
B D

Choose the proper location on the wall and drill the holes accordingly, 
fix the anchor bolts properly. Attach the hook (Part 11) on the anchor 
bolts with bolts f, and place the pull up bar on the hooks. The bar is 
ready for use. It can be used as a dip bar and a pull up bar with multi 
grips, please refer to the right diagrams, you can turn it 90 degress to 
fullfill the specific purpose.

In order to position the 2 hooks which support the pull up bar, you are 
supposed to check the length of part 5 or part 7.
4 pcs of hooks are included for 2 different heights, or 2 different 
positions.
The hook’s position also depends on the user’s height. 

The bar should be attached on a solid cement or brick wall or to wall 
which can support at least user’s weight on each side. Cavity wall 
should be avoided. 
 The holes should be drilled carefully by a professional people.
The hooks should be tightened and tested properly before use.

6

C

D

E E

6
10

5

11

Choose the proper location on the wall and drill the holes accordingly, 
fix the anchor bolts properly. Attach the hook (Part 11) on the anchor 
bolts with bolts f, and place the pull up bar on the hooks. The bar is 
ready for use. It can be used as a dip bar and a pull up bar with multi 
grips, please refer to the right diagrams, you can turn it 90 degress to 
fullfill the specific purpose.

In order to position the 2 hooks which support the pull up bar, you are 
supposed to check the length of part 5 or part 7.
4 pcs of hooks are included for 2 different heights, or 2 different 
positions.
The hook’s position also depends on the user’s height. 

The bar should be attached on a solid cement or brick wall or to wall 
which can support at least user’s weight on each side. Cavity wall 
should be avoided. 
 The holes should be drilled carefully by a professional people.
The hooks should be tightened and tested properly before use.

11

ASSEMBLY INSTRUCTIONS

SECURE WALL MOUNTING


